| dE/dx estimator 1 |

0.250

0.2

0.15

0.1

0.05

121074
2.506
l 696

Entries
Mean
Std Dev

121072
Mean 2.506
Std Dev 1.696

Entries

......................................................................

.......................................................................

0.95

=
TT T T T T 11

o

1 2 3 45 6 7 8 9 10

| dE/dx

estimator 2 |

0.25

0.2[1

0.15

0.1

0.05

121074
2412
l 696

Entries
Mean
Std Dev

121072
Mean 2.413
Std Dev 1.696

Entries

........................................................................

FRVA)

0.95

=
TT T T T T 11

Al
HH

o

ol
\l

5

=—=— DQM_TT__mkFit-DQM_pless_orig

0.05

0.1¢

TRva].

0.95%

o

10 20 30 40 50 60 70 80

— DQM TT__mkFit-DQM_pless_mod
M CTTaTeS IZITUTH M CTIaTeS 121074
: | Mean 4.74 0.8 imrrmirrrme it :| Mean 0.2687
: s Dev 5.049 : : |_Std Dev 0.6091
R S S S S ST DU S ] : : ]
* [ Entries 121072 O.7F it [ Entries 121072
: | Mean 4.74 : : | Mean 0.2689
. | Std Dev 5.049 0.6H it t.[ Std Dev 0.6096
) S R R S
(O T S P E PPy PP PP RS FEPPEPPP SRPEPPPR Broseeeeebeseee
______________________________________________________________________ 0.3 +eieeeereebeerenesb bbb
: V] S R S Rartees s S S
: 01'_ .......................................... ...........................
[ - A T T T S P Luo'r | | | . | | |
1111Il|||||||||||” :'1||
1 e A 18 e A
-HHMHWHN :W

0.95

10 20 30 40 50 60 70 80



	Contents
	Page 1


